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2.3. A& A2

o Ri()+ LD+ L [ipar=v(p ; <RLC A@H=Y>
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x B¥RF( Simple Pendulum)
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2.4. Laplace ¥ 3}

F<s>=f0°°f(¢> e dt
=4 > gF Aoz g

o N&EA ( Causality )

foo~ - One-sided Laplce Transform st =0 o)A
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¥ T8 AY f(t) o F(s) : Laplace Transform Fair

D LIkAD]= kF(s)

@ L [afixbfy] = aF(s)+bF,5(s)
@ LI (D] = s°F(— s*A0)—sf(0)—5"(0)

@ L[fotf(t)dt] = JE%Q

® time shifting L[ At— D] = e 5F(s) ; A2 shifting’d =l
® I}L%qf(t) = LirorgsF(s) , 2714 A
@ LimAY = LirglsF(s) , HAFTA A
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s—shifting L[ e "“AD] = F(sta) ; A1 shifting™ &

® L] [ £(D A= de] = Fi(3) - Fy(9)
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% M3 A are] Laplace 34
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